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1 Usmg letters mstead of unknown numbers.
Eath 12y years old. Her husband Bill i 4 years older.
a) Write down an expression, in terms of y, for Bill's age.
(1)
Cyril has ncoins in his collection. His son David has three times as many cotns
b) Write down an expression, intertns of », for the number of cowns 1 Dawid's
collection.
(1)
At a museum, the cost of child admission 13 C and the cost of adult admission 13 A
c) Write an expression for the cost of 3 children and 2 adults to wisit the museum
(1)

There are 100 sheets of paper in abox There are x boxes
d) Write an expression, i terms of x, for the number of sheets of paper,



